@ ANTUELNEANWUU

AA: Jun: ATLLUU:

(5% + 4)(4x—5) + 3¢ — 2x — 1 6x+ (4 — 2x)(x — 4)(4x + 5)

(632 — x = 5)(6x +5)+2x — 5 (5x+ 2)(% + 6x + 1)+ (3x — 6)(dx + 3)
(3x— 6)(2x% — 2x + 2) + (6x + 6)(2x + 5) (4x* +2x—2)(x— 3)— 6 x 3x+ 6

(4x* — 1)(5x—4) + % +6x—5 x+ (6+x)(2x + 3)(4x — 3)

(43 — 2x+3)(3x—2) + 6 x 3x+ 3 (5x — 4)(5x* +x+ 3)+ (5x — 2)(5x — 2)
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RETTT

(5% + 4)(4x — 5) + 3% — 2x — 1
20x° — 22x% + 14x— 21

(6x> — x—5)(6x +5)+2x -5
36x° + 24x* — 33x — 30

(Bx— 6)(2x% — 2x + 2) + (6x + 6)(2x + 5)
6> — 6x% + 60x + 18

42— DGx—4) +x¥ +6x—5
205> — 15x° +x— 1

(4x? — 2x+3)(3x— 2) + 6 x 3x + 3
12%° — 14%* + 31x— 3

Jun: ATLLUU:

6x+ (4—2x)(x— 4)(4x +5)
—8x° + 38x% + 2x — 80

(5x+ 2)(% + 6x+ 1)+ (3x — 6)(4x + 3)
50 + 44x% +2x— 16

(4> +2x—2)(x—3)— 6 x3x+ 6
43 — 10x% — 26x + 12

x+ (6+x)(2x+ 3)(4x—3)
8x° + 54x° + 28x — 54

(5x — H)(5x° + x+ 3) + (5x — 2)(5x — 2)
25x° + 10x% —9x— 8
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